Initials + Day of Birth: _______________________________

Polling Activity 1 Pre-assessment

A first group of children tosses a coin 50 times. A second group tosses the coin 150 times. Both groups write down the outcomes. Which group is more likely to get at least 60% tails?

a. Group 1

b. Group 2

c. Neither group is more likely

Explain the reason for your choice.

Initials + Day of Birth: _______________________________

Polling Activity 1 Post-assessment

A first group of children tosses a coin 50 times. A second group tosses the coin 150 times. Both groups write down the outcomes. Which group is more likely to get at least 60% tails?

a. Group 1

b. Group 2

c. Neither group is more likely

Explain the reason for your choice.

